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Time:2 1/2hrs Marks: 75
NOTE :1) All questions are compulsory. '
2) Draw neat diagrams wherever necessary.
3) Figures to the right indicate full marks.
Q.1) Attempt any two. (15)
A) Explain the concept of demand function.
B) Describe the significance of demand forecasting .

C) If a firm increases its promotional expenditure from Rs 21,000 to Rs56,000,
the demand for its commodity rises from 100 units to 500 units. Calculate
the promotional elasticity of demand.

Q.2) Attempt any two. (15)
A) Examine the law of Variable Proportions .
B) Explain the concept of marginal rate of technical substitution.
C) Discuss the external economies of scale.

Q.3) Attempt any two. (15)
A) Explain the various types of average cost curves in short run with diagram.
B) Explain the concept of producer’s surplus with the help of a diagram.

C) If Total fixed cost is Rs100, calculate the Average Cost , Marginal Cost and
Total Variable Cost from the following table.

Quantity [ T v 3 + - 6
-|of output
TotalCost| 160 175 185 205 255 280
Q.4) Attempt any two. (15)

A) Explain the relationship between total revenue, average revenue and
marginal revenue under monopoly with the help of a diagram.
B) Discuss the growth maximisation objective of a firm.
C) If the total fixed cost of a firm is Rs80,000, the variable cost per unit is Rs50
and selling price is Rs 60, calculate the break even output and amount of the

firm. :
Q.5.A) State whether following statements are true or false with reasons.
(any four) 3)

1) Elasticity of demand is useful in framing foreign trade policy.

2) Size of population is a determinant of demand .

3) Isoquant slopes downwards to right.

4) Iso-cost line is the budget line of producer.

5) Long run average cost curve is known as planning curve.

6) Short run average cost curve is L shaped.

7) In perfect competition average revenue is not equal to marginal revenue.
8) At break even point total revenue is less than total cost
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B) Choose the correct answers and rewrite the statements.
(any seven) (7)
1) When price is less than marginal utility consumers surplus is
a) positive b) negative c) zero

2) Cross elasticity of demand for substitute products is equal to
a) positive b) negative c) zero

3) is a survey method of demand forecasting.
a) Experts opinion b)Regression method c) Econometric model

4) Production means :
a) creation of utility b) destruction of utility c) earning profits

5) is enjoyed by a firm as a result of its own expansion.
a) Internal economies of scale b) External economies of scale
c)Total Revenue.

6) Utility of an umbrella in rainy season is example of
a) form utility b)place utility c)time utility

7) means opportunity lost.
a) Social cost b)Fixed cost c) Opportunity cost

8) Explicit cost+ Implicit cost = ’
a) Economic cost b)Social cost ¢)Opportunity cost

9)Expenses on purchase of land is an example of cost.
a)fixed b)variable c)social

10)Total revenue — Total cost =
a)profit b) revenue c) cost

11) is known as the point of no profit no loss.
a)Break even point b)Starting point c)Margin point

12)Under perfect competition, demand curve of a firm is
a)perfectly elastic b)perfectly inelastic c) relatively elastic
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